
Bauart: ASz 648 a (50Hz,42V)
Best.-Nr.: 72010695044

Pos. Best.-Nr. Benennung Stk Preis UVP o.
MwSt. (USD)

AT

0010 31902028008 Motor housing 1 a. A. -
0020 30712068015 Brush holder 2 a. A. -
0040 43041001994 Fillister head screw M3,5X10 4 a. A. -
0050 30711072000 Carbon brush 2 a. A. -
0060 43003029048 Flat headed screw M4X6 2 a. A. -
0070 51213001048 Stator 50Hz42V 1 a. A. -
0090 43001004042 Hexagon socket screw M4X60 2 a. A. -
0100 31428010005 Air guide ring 1 a. A. -
0120 30701073005 Switch 1 a. A. -
0130 31413090003 Cable grommet 1 a. A. -
0140 30706110011 Cable 1 a. A. -
0150 32431021007 Cable clamping piece 1 a. A. -
0160 43041011993 Fillister head screw M3,5X12 2 a. A. -
0170 30722057002 Capacitor 1 a. A. -
0180 43003013991 Flat headed screw M3,5X5 1 a. A. -
0190 32428050007 Handle half shell 1 a. A. -
0200 43066003996 Countersunk screw 1 a. A. -
0210 43041013047 Fillister head screw M4X20 3 a. A. -
0250 53213003047 Armature 50Hz42V 1 a. A. X
0360 31506178000 Intermediate bearing 1 a. A. -
0370 31508121009 Gearbox housing 1 a. A. -
0375 31508121024 Gearbox housing 1 a. A. -
0376 31508121018 Gearbox housing 1 a. A. -
0390 33401064008 Shaft 1 a. A. -
0400 41701218024 Grooved ball bearing 1 a. A. -
0410 30501223007 Sleeve 1 a. A. -
0420 42639005000 Sealing ring 1 a. A. -
0430 41701213011 Grooved ball bearing 1 a. A. -
0440 33663030001 Gear-wheel 1 a. A. -
0450 32618032006 Thread ring 1 a. A. -
0460 33763012004 Gear-wheel 1 a. A. -
0470 33663028005 Gear-wheel 1 a. A. -
0480 41701001010 Grooved ball bearing 2 a. A. -
0500 43035023057 Cylinder head screw M5X55 2 a. A. -
0510 43035025059 Cylinder head screw M5X65 2 a. A. -
0520 42443004057 Circlip M5 4 a. A. -
0530 32612058003 Sealing ring 1 a. A. -
0540 41701207096 Grooved ball bearing 1 a. A. -
0550 41701204131 Grooved ball bearing 1 a. A. -
5000 32119032002 Side handle 1 a. A. -
6000 32160003014 Lubricant tube 0,085 kg 1 a. A. -
9000 34101089060 Operating instructions 1 a. A. -
9010 34150229000 List of spare parts ASZ/e648A 1 a. A. -
9020 34130054061 Safety instruction 1 a. A. -



Bauart: ASz 648 a (50Hz,42V)
Best.-Nr.: 72010695044


